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Alkanes - 2

(a)

Eguation to show the complete combustion of CisHs. is as:
CisHszx + 230, — 1SCO, +16H,0

(2)
(b)
Identity of product: CO or carbon monoxide
Eguation: CH, + 4/3 0, — CO+2H,0
()
B
@

Name of the process involved: Cracking

Two equations for reactions in which ethene is formed from decane by this
process are as:

Cio Hao — CoHy + C3H s
CioHsor — 262H(, + CsH,)

Economic importance:

CiH22 or larger alkanes: low demand and less useful so by cracking these
products are more useful.

As

The CH,0r smaller alkanes are in high demand and more useful.

Ethene is used to make compounds like polymers/plastics/ethanol.
These products are as octane or smaller alkanes used as a petrol or fuels.

(6)
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Q)

(a)
The catalyst is coated on a honeycomb because it gives large surface area
for the faster reaction to occur.

(2)
(b)

Eguation for the reaction of octane with nitrogen monoxide to form
nitrogen, carbon dioxide and water can be represented as:

CsHiz + 25NO — 8C0, + 9H,0 + 124N,
(2)
D Q)

Eguation for the incomplete combustion of CsHs is as:
CstHis + 85 0, — 8CO + 9H,0

Catalyst used in the catalytic converter:

Rh or Pt or Pd

Eguation showing how carbon monoxide is removed in a catalytic converter is
as:

2C0 + 2NO — 2C0, + N,

Greenhouse gas can absorbs infrared radiations that is why the water
produced in the exhaust gases may contribute to global warming. .
4)

Q)
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9.
Ca)
Eguation:
Csths +12.50, — 3C0, + 9H,0
Q)
(b)
Eguation:
25NO + CsHis — 12.5N, + 9H,0 + 3CO0,
Q)
(o)
6
Moles SO, :% = 1.012 x 1011
) 11
Mass of Ca0="222210 X501 _ 5 68 % 10%g
1000
(2)
lo. C

Q)

Dr. Ashar Rana Copyright © ChemistryOnlineTuition Ltd - All rights reserved



@ www.chemistryonlinetuition.com & asherrana@chemistryonlinetuition.com

& A
/‘\-/\\

DR. ASHAR RANA CHEMIS.'I.'R;ONLINE

M.B.B.S / MS. CHEMISTRY e

Email: asherrana @chemistryanlinetuition.com

- Founder & CEO of Chemistry Online Tuition Ltd.

- Completed Medicine (M.B.B.S) in 2007

- Tutoring students in UK and worldwide since 2008
- CIE & EDEXCEL Examiner since 2015

- Chemistry, Physics, Math'’s and Biology Tutor

CONTACT INFORMATION FOR
CHEMISTRY ONLINE TUITION

- UK Contact: 02081445350

- International Phone/WhatsApp: 00442081445350
- Website: www.chemistryonlinetuition.com

- Email: asherrana@chemistryonlinetuition.com

Address: 210-Old Brompton Road, London SW5 OBS, UK



	Blank Page
	Blank Page



